SM223 - Calculus III with Optimization Fall 2021 - Uhan

Review Quiz 1

Instructions. You have 15 minutes to complete this review quiz. You may not use your calculator. You may not use
any other materials. Submit your answers using the provided Google Form.

1. If the cross product of two nonzero vectors is (0, 0, 0), what can we conclude about the vectors?

(a) Nothing - not enough information. Qecald : l;xi\s | 21T w6, whee B i tHe

(b) They are orthogonal. -
(c) They are parallel. ““31‘" bet o b
(d) They are unit vectors. T.‘F ZxT,= <°)°)°> = IZXL\=D =2 $nB=0

(e) The vectors have the same magnitude.
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2. Which vector is orthogonal to (1, 3,2)?

(a) (1,1,1) 3 b thosool £ @b =0
o) (0.1,0) Recadle 2 ok b sre arbhogon A
(C) (la _1:1) . _ - - 3 + =0
@ (1o.1) L322 L1 | 1
(e) (2,3,1)
3. Which of these planes is perpendicular to the linex =2 -¢, y = -2+ %t,z=1+2t?
(a)x—ly—22=5 . ) ‘ L
(b) 2x —22)’+Z=3 oy This ol hoe L-) This “M' hoo JAMO“'\ vta‘vr < l’ 2, 2>
(C)x—2y—%z:8 ’W:narﬂ‘:d‘ﬂ' <l 4 l> /
d) ~ix+iy-z=7 » 2, "
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4. The tangent vector to the curve 7(t) = (2t,sint,cos ) at t = 7 is:

((8 gﬂ—lﬂ(r))0> vi(t) - <2, wst, —gat D
2,0,1 o,

((3 227:,0}1) 27 (x)=(2, -1,0)

(e) (2m,-1,0)

5. Find the length of the curve 7(t) = (sint, cost, t\/3) from t = 0 to ¢ = 10.

(a) 10 +50\/F o e
(‘g) cos(10) +sin(10) +10v/3 L= f Ir(t) ‘ At = J; 24t

(c) 10 +10v/3
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